

Adding and Subtracting Fractions



Solve.



$1) \frac{2}{8} + \frac{7}{1} =$

$2) \frac{9}{4} + \frac{8}{4} =$

$3) \frac{3}{8} + \frac{4}{8} =$

$4) \frac{15}{12} + \frac{14}{17} =$

$5) \frac{2}{3} + \frac{3}{8} =$

$6) \frac{7}{5} + \frac{4}{8} =$

$7) \frac{2}{2} + \frac{5}{4} =$

$8) \frac{7}{12} + \frac{18}{17} =$

$9) \frac{14}{13} + \frac{18}{12} =$

$10) \frac{3}{4} + \frac{7}{3} =$

$11) \frac{9}{10} + \frac{6}{5} =$

$12) \frac{8}{9} + \frac{7}{1} =$

$13) \frac{9}{7} + \frac{7}{6} =$

$14) \frac{9}{11} + \frac{10}{18} =$

$15) \frac{10}{15} + \frac{12}{14} =$

$16) \frac{9}{9} + \frac{11}{18} =$

$17) \frac{10}{12} + \frac{16}{17} =$

$18) \frac{12}{13} + \frac{16}{13} =$

$19) \frac{6}{9} + \frac{6}{2} =$

$20) \frac{6}{4} + \frac{4}{8} =$

$21) \frac{11}{9} + \frac{11}{10} =$



Solve.

$1) \frac{20}{10} - \frac{18}{17} =$

$2) \frac{5}{1} - \frac{5}{4} =$

$3) \frac{18}{18} - \frac{15}{17} =$

$4) \frac{5}{3} - \frac{5}{3} =$

$5) \frac{6}{5} - \frac{8}{7} =$

$6) \frac{6}{4} - \frac{5}{4} =$

$7) \frac{22}{5} - \frac{12}{15} =$

$8) \frac{20}{9} - \frac{18}{15} =$

$9) \frac{7}{4} - \frac{6}{5} =$

$10) \frac{8}{4} - \frac{6}{6} =$

$11) \frac{18}{8} - \frac{18}{10} =$

$12) \frac{7}{2} - \frac{2}{8} =$

$13) \frac{6}{6} - \frac{3}{3} =$

$14) \frac{21}{2} - \frac{15}{18} =$

$15) \frac{9}{3} - \frac{5}{2} =$

$16) \frac{8}{5} - \frac{3}{4} =$

$17) \frac{22}{6} - \frac{10}{17} =$

$18) \frac{7}{5} - \frac{7}{7} =$

$19) \frac{8}{7} - \frac{1}{1} =$

$20) \frac{22}{10} - \frac{17}{14} =$

$21) \frac{21}{7} - \frac{15}{18} =$

Answers of Adding and Subtracting Fractions



Solve.

1) $\frac{2}{8} + \frac{7}{1} = \frac{29}{4}$

2) $\frac{9}{4} + \frac{8}{4} = \frac{17}{4}$

3) $\frac{3}{8} + \frac{4}{8} = \frac{7}{8}$

4) $\frac{15}{12} + \frac{14}{17} = \frac{141}{68}$

5) $\frac{2}{3} + \frac{3}{8} = \frac{25}{24}$

6) $\frac{7}{5} + \frac{4}{8} = \frac{19}{10}$

7) $\frac{2}{2} + \frac{5}{4} = \frac{9}{4}$

8) $\frac{7}{12} + \frac{18}{17} = \frac{335}{204}$

9) $\frac{14}{13} + \frac{18}{12} = \frac{67}{26}$

10) $\frac{3}{4} + \frac{7}{3} = \frac{37}{12}$

11) $\frac{9}{10} + \frac{6}{5} = \frac{21}{10}$

12) $\frac{8}{9} + \frac{7}{1} = \frac{71}{9}$

13) $\frac{9}{7} + \frac{7}{6} = \frac{103}{42}$

14) $\frac{9}{11} + \frac{10}{18} = \frac{136}{99}$

15) $\frac{10}{15} + \frac{12}{14} = \frac{32}{21}$

16) $\frac{9}{9} + \frac{11}{18} = \frac{29}{18}$

17) $\frac{10}{12} + \frac{16}{17} = \frac{181}{102}$

18) $\frac{12}{13} + \frac{16}{13} = \frac{28}{13}$

19) $\frac{6}{9} + \frac{6}{2} = \frac{11}{3}$

20) $\frac{6}{4} + \frac{4}{8} = \frac{2}{1}$

21) $\frac{11}{9} + \frac{11}{10} = \frac{209}{90}$



Solve.

1) $\frac{20}{10} - \frac{18}{17} = \frac{16}{17}$

2) $\frac{5}{1} - \frac{5}{4} = \frac{15}{4}$

3) $\frac{18}{18} - \frac{15}{17} = \frac{2}{17}$

4) $\frac{5}{3} - \frac{5}{3} = \frac{0}{1}$

5) $\frac{6}{5} - \frac{8}{7} = \frac{2}{35}$

6) $\frac{6}{4} - \frac{5}{4} = \frac{1}{4}$

7) $\frac{22}{5} - \frac{12}{15} = \frac{18}{5}$

8) $\frac{20}{9} - \frac{18}{15} = \frac{46}{45}$

9) $\frac{7}{4} - \frac{6}{5} = \frac{11}{20}$

10) $\frac{8}{4} - \frac{6}{6} = \frac{1}{1}$

11) $\frac{18}{8} - \frac{18}{10} = \frac{9}{20}$

12) $\frac{7}{2} - \frac{2}{8} = \frac{13}{4}$

13) $\frac{6}{6} - \frac{3}{3} = \frac{0}{1}$

14) $\frac{21}{2} - \frac{15}{18} = \frac{29}{3}$

15) $\frac{9}{3} - \frac{5}{2} = \frac{1}{2}$

16) $\frac{8}{5} - \frac{3}{4} = \frac{17}{20}$

17) $\frac{22}{6} - \frac{10}{17} = \frac{157}{51}$

18) $\frac{7}{5} - \frac{7}{7} = \frac{2}{5}$

19) $\frac{8}{7} - \frac{1}{1} = \frac{1}{7}$

20) $\frac{22}{10} - \frac{17}{14} = \frac{69}{70}$

21) $\frac{21}{7} - \frac{15}{18} = \frac{13}{6}$